Answer ALL NINETEEN questions.
Werite your answers in the spaces provided.

You must write down all stages in your working.

1. Here is a list of ingredients to make melon sorbet for 6 people.

Melon Sorbet
for 6 people

800 g melon
4  egg whites

100 g caster sugar

Terry makes melon sorbet for 18 people.

(a) Work out how much caster sugar he uses.

\DOS X 3

Hedley makes melon sorbet.
He uses 2 limes.

(b) Work out how many people he makes melon sorbet for.

L

> lime = éfeopbz
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(a) Reflect the shaded shape in the line y = x.
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(b) On the grid, enlarge the shaded shape by a scale factor of 3, centre O.
3 Q2
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3. Noah got 8 out of 20 in a test.
Write 8 out of 20 as a percentage.
5 100
20
............... 40w s
(Total 2 marks) !
——
4. (a) Solve 2x+3 =10 (&mm
2% =103 L Chongt Sign }
2o =1
x =1L
pA
NI =T
)
(b) Simplify
(i) & xcb { ‘
L
(i) e'?+¢é* g
B
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5. Use your calculator to work out

13.7 + 5.86
2.54 x3.17

Write down all the figures on your calculator display.
You must give your answer as a decimal.

................................................................

(Total 2 marks) )
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6. —3<k<2 2 1s M cluded
/ﬂc is an integer.
//
,J’/ Write down all the possible values of k.
=3 is NOT inciudee 2 _' ' 2Q
o 6

(Total 2 marks)
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7. A shop sells small boxes and large boxes for storing CDs.
A small box stores x CDs.
A large box stores y CDs.
Ethan buys 7 small boxes.
(a) Write down an expression for the number of CDs he can store in the 7 small boxes.
| )
Ethan also buys 5 large boxes.
(b) Write down an expression for the number of CDs he can store in the 5 large boxes.
1
Ethan can store a total of 7 CDs.
(¢) Write down a formula for T in terms of x and y.
s = [x + 5 Y
n Q7
R
|
(Total 3 marks) E
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8. The diagram shows a solid prism made from centimetre cubes.

\///

(a) On the centimetre square grid, draw the front elevation of the solid prism

from the direction shown by the arrow.
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(b) On the centimetre square grid below, draw the plan of the solid prism.
; T
!
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9. (a) Solve 3(k—5)=24 k-5 = ?—SL&
3k -15 =24 c -5 =3
Ik = 24 +HIS < = &4+5
= R4
S 3 @)
2x* =162
(b) Find a value of x.
2 :
X = 62
2
x” = 8 1.
2 Q9
X = (3! )
r (Tetal 4 marks) E
10. Work out (5.2 x 10 ) x (2.8 x 10 ™)
Give your answer in standard form.
............... 4Se X 10 o
(Total 2 marks)
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11. Here are four containers.

Water is poured into each container at a constant rate.

ysRINe

Here are four graphs.

The graphs show how the depth of the water in each container changes with time.

A
A
Depth of
water
0 Time -
A
C
Depth of
water
0 Time

Match each graph with the correct container.
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Aand ......... 5 ..............
Band ......... 2‘ .............
C and 4 .............
D and ‘ .............. Q11

(Total 2 marks)
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A water container has 19.5 litres of water in it.
A cup holds 210 m/ of water.
At most 92 cups can be filled completely from the water container.
Explain why.
You must show all your working.
locom\ = 1 b
(antoaner = l4-S L
C u"’f) ::"-> 0-2 \ L
19-5 _ q2.857.. ..
0-2)
-v Most Comptekehj 6 Uedk Cu@S iS qz
Q12
B
(Total 3 marks) ’
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13. (a) Complete the table of values for y = -7

X

-2

~1

0

1

y

-8

-1

~6

20

(b) On the grid, draw the graph of y=x* -7 for values of x from -2 to 3

Ty
T
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14.
Diagram NOT
accurately drawn
1go - 2% =52
The diagram shows a circle, centre O.
A, B, C and D are points on the circumference of the circle.
Angle ABC = 128°.
Work out the size of the angle marked x.
X 1S doube 52
........... 0% .7 o
(Total 2 marks) |
1.
Diagram NOT
accurately drawn
A
A X))
ABC is a right-angled tgiar?gle. C H
AC=8m.
Angle CAB = 37°.
Calculate the length of 4B.
Give your answer correct to 3 significant figures.
Ad) = los x x hyp
AR = 3537 x &
AR = 5-33‘908 Yof :
E 630( ..... m Q15
N
(Total 3 marks) |
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16.

26 cm

+—35cm—»

The length of the rectangle is 35 cm correct to the nearest cm.
The width of the rectangle is 26 cm correct to the nearest cm.

Calculate the upper bound for the area of the rectangle.
Write down all the figures on your calculator display.

L8 34-S
Length  ug  3s-s

- Lg 253
\/\).cbﬂ" us 26~3
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U
]
-0
£
o
~

Diagram NOT
accurately drawn
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17. Solve ~+~-=8 \ Vo _®
22 ok 2X ¥3¥
55 ="
Ix+2x _ g b
- &
x = &_
6 /e
5.2( =& X = Q-b
&
- 43
<05 9.6
X T iriieiveeierraraeaeraarans Q17
x =9-6 (Total 2 marks) T

18. Make n the subject of the formula

_ba-n
3+n

E L rate Rracbon
a(34n) = 6"

Sa-\-a/\ :;éok"‘n’

Cek all N kecmsS on one Sicke

a

nran = boa—2e
Ntan = 30
FoctorisSe
n(ira) = 3a 3“ b S
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19.

P
é Diagram NOT
accurately drawn
10.5cm
83 cm
Q R

In triangle POR,

PQ=10.5cm,

PR =83 cm,

angle QPR = 62°.

(a) Calculate the area of triangle POR.
Give your answer correct to 3 significant figures.

Yool S C

A

1 (2.3 16-5) S 62

L3 m )Sin |

= 33’4:7444--' ......... 3 X—S ......... cm?
A -8 @

(b) Calculate the length of OR.
Give your answer correct to 3 significant figures.

al: [91_{—61/2 bc COS A’

ot = g7-3111066 |

a}:Jﬁ7~3H\oééi
= Q-?éi4630‘-~ -
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przlo-stt 88— 2(io -SY8-3)x log 62

3 Q19
)
(Total 5 marks) 1
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